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MANAGEMENT
PAPER - 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All
questions are compulsory.

1.  The following is the demand schedule :

Price Quantity demanded

® (Units)

10 80

8 100

5 160
What will be the value of arc elasticity of demand between prices 10 and 5 ?
(1) 0.50 (2) 0.20
(3) 1.00 4 L35

2.  The following is the total cost function of a firm :
TC=10+6Q-0.9 Q> +0.05Q?
What will be the critical value of output when AC is the minimum ?
(H 9 (2) 10
3) 6 (4) None of the above

3.  Match the items of List — I with the items of List — II and select the code of correct
matching :
List - I List — II
(1) Normal profit at the output level where (a) Oligopoly market
MC=MR = AR = AC
(i) Normal profit at the output level when (b) Perfect competition market
(MC = MR) is less than (AC = AR)
(i11) Price and output levels once determined (c) Monopoly market
tend to remain stable even if there is
considerable change in cost of production
Codes :
@ M (©
(H @ @G (i)
(2) i) @G) 1)
(3) Gy (@G (1)
@4 i) @) (@)
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4.  Match the items of List — I with the items of List — II and indicate the code of their correct
matching with regard to methods of measuring national income :
List - 1 List — II
(i)  When the entire national economy is considered (a) Expenditure method
as an aggregate of producing units
(i) When national economy is considered as (b) Net product method
combination of factor owners and users
(i) When national economy is viewed as a (c) Factor income method
collection of spending units
Codes :
(@ () (o
(H ® Gy (i)
(2) () @@ @)
(3) @Gy (@) @)
(4) (i) ) (@O

S.  Statement — I : Business environment for a firm is a multi-layered structure.
Statement — II : Types of business environment risk cover only natural risk and legal risk.
(I) Both the Statements I and II are correct.
(2) Both the Statements I and II are incorrect.
(3) Statement I is correct while Statement II is incorrect.
(4) Statement I is incorrect while Statement II is correct.

6. Match the items of List — I with the items of List — II and find the correct combination :

List -1 List - II
(Perception Process) (Elements)
(a) Stimuli (1)  Grouping
(b) Organizing (i)  Stereotyping
(c) Interpreting (i11) Internal & External
(d) Reacting (iv) Impression formation
Codes :

(@ () () (@
H Gv)y () (@) (i)
2 @) @H > (@{v)
(3 @ @) @Gv) @
4 (@) @Gv) @G) @)

7.  Which of the following is not a theory of organization ?
(1) Balance theory by Herbert Simon
(2) Fusion process theory by Wight Bakke
(3) Role theory and group theory by Rensis Likert
(4) Kurt Lewin’s field theory

Paper-11 4 J-17-16
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8.  The three different types of interdependence among groups was primarily suggested by

whom ?
(1) Likert (2) Kurt Lewin
(3) Thompson (4) Gordon Lippit

9. As per the Vroom’s theory of motivation, what is the term coined for the extent of
attraction of a result/outcome to the recipient of the award ?

(1) Expectancy (2) Instrumentality
(3) Valence (4) Force

10. Which of the following is the concept of organizational development which stresses
effective use of the existing methods used by employees ?

(1) Process consultation (2)  Sensitivity training
(3) Job enrichment (4) Team building

11.  Which of the following is included in a functional job analysis ?
(1) the mathematical ability required to perform the task
(2) the extent to which reasoning and judgment are required to perform the task
(3) the extent to which specific instructions are necessary to perform the task
(4) all of the above

12. Match the items of List — I with the items of List — II.
List -1 List - 11
(a) Job instruction (1) A systematic method for teaching job skills involving
training presenting questions or facts, allowing the person to

respond, and giving the learner immediate feedback on
the accuracy of his answers.

(b) Vestibule (1)) Listing of each job’s basic tasks, along with key points in
training order to provide step-by-step training.

(c¢) Programmed (i11)) Training employees on special off the job equipment, as

learning in air-plane pilot training, whereby training costs and
hazards can be reduced.
Codes :
(@ (b (o)

(L @ @G ()
2 O @ (@)
(3 @ G @
4 i) @) (1)
Paper-11 6 J-17-16
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13. In which one of the following performance appraisal method predetermind percentages of
ratees are placed in performance categories ?

(1) Forced distribution method (2) Paired comparison method
(3) Alternation ranking method 4) MBO

14. Out of the following, choose the non-traditional pay focus combination ?
(a) Encourage involvement
(b) Create order
(c) Highlight organizational needs
(d) Reward positive results
(e) Reinforce the hierarchy
(f)  Direct behaviour

Codes :
() (a), (b), (c) and (d) (2) (a), (b), (d) and (e)
(3) (a), (c) and (d) 4) (b), (e) and (f)

15.  Which of the following is a function of labour relations ?
(1) To provide constructive criticism of the management

(2) To increase the productivity of the workers through reducing the labour turnover
and frequent absenteeism

(3) To secure and improve living standards and economic status of workers
(4) All of the above

16. Match the items given in List — I with the items of List — II.
List - I List - II
(a) Lien (1)  The borrower is provided with working capital finance against
the security of movable property, generally inventories.

(b) Mortgage (1)) It is the transfer of a legal or equitable interest in a specific
immovable property for the payment of a debt.

(c) Hypothecation (iii) It means right of the lender to retain property belonging to
the borrower until he repays credit.

(d) Pledge (iv) The borrower is required to transfer the physical possession
of the property offered as a security to obtain credit.

Codes :
@ () (© (@

() Gv) G @G) 1)

(2 @) @G @ @Gv)

(3 Gv) @Gy (@) (i)

@ @ @Gy G (@Gv)
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17.  Which one of the following values refers to the net difference between the realizable value
of all assets and the sum total of external liabilities ?

(1) Capitalized value (2) Going concern value
(3) Book value (4) Liquidating value

18. The coefficient of variation is a useful measure of risk when a financial manager is
comparing the projects which have ?

(1) Same standard deviations but different expected values.

(2) Different standard deviations but same expected values.

(3) Different standard deviations and different expected values.
(4) All of the above

19. A plastic manufacturing company issues 10% irredeemable preference shares. The face
value is ¥ 100, but the issue price is ¥ 95. The cost of preference share is

(1) 95% 2) 10%
3) 10.53% 4) 19.5%

20. A project requires an outley of ¥ 52,000, It is expected to generate cash inflow as

follows :

Year1 - 312,000

Year2 — 15,000

Year3 - 316,000

Year4 — 318,000

Year5 — ¥ 9,000

The pay-back period of the project is :

(1) 4 years (2) 3 years and 5 months
(3) 3 years and 6 months (4) 5 years

21. Out of the following, identify the key constituents for relationship marketing of holistic
marketing dimensions :

(a) Senior management
(b) Environment

(c) Customers

(d) Employees

(e) Partners

(f) Financial community
(g) Channels

Codes :
() (a), (b), (c) and (e) (2)  (c), (d), (e) and (f)
(3)  (d), (e), (f) and (g) 4) (a), (c), (d) and (f)
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22. Six levels of the product hierarchy are given below. Select the code of their correct
sequence.

(a) Product class
(b) Need family
(c) Item

(d) Product family
(e) Product type
(f)  Product line

Codes :
(D) (d), (b), (e), (a), (c) and (f) (2) (a), (d), (b), (c), (f) and (e)
(3) (b, (d), (), (), (¢) and (c) 4) (b), (d), (D), (a), (¢) and (¢)

23. Match the items of List — I with the items of List — II and choose the correct codes :
List - I List — II

(a) Point-of- (i)  Attribute or benefit associations that are not necessarily unique
purchase to the brand but may in fact be shared with other brands.

(b) Point- of (i) The location where a purchase is made, typically thought of in
parity terms of a retail setting.

(c) Points-of- (iii)) Attributes or benefits that consumers strongly associate with a

difference brand, positively evaluate, and believe they could not find to
the same extent with a competitive brand.
Codes :
@ (M (©

1 Gy G @)
(2) Gy @ (i)
3 (@ G (i)
4 (i) () (@)

24. Which one of the following is “the ability to perform the promised service dependably and
accurately determinant of service quality” ?

(I) Assurance (2) Empathy
(3) Reliability (4) Responsiveness

25. When companies work with each other online and offline to promote each other, they are

creating
(1) Contextual advertisements (2) Alliance and affiliate programmes
(3) Content sponsorships (4) Search related advertisements
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26.

27.

28.

29.

30.

Assertion (A) : Operation research is the application of the method of science to decision
making in management of men, money, machines and materials.

Reason (R) : Operations research is the prediction and comparison of value, effectiveness
and cost of a set of proposed alternative courses of action involving man, machine
and system”.

Codes :

(1) Both (A) and (R) are correct.

(2) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(3) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).

(4) (A) is correct, but (R) is incorrect.

Identify the correct statements from the following with regard to operation research :
(1) Itis based on quantitative techniques and mathematical models.

(1)) Operation research is another name of optimization.

(ii1) It looks at the problem with a holistic approach.

Codes :

(1) (i) and (ii) are correct statements (2) (ii) and (iii) are correct statements
(3) (i) and (ii1) are correct statements (4) (i), (ii) and (iii) are correct statements

Which of the following are true statements regarding statistical quality control ?

(i)  the measure of the performance of an acceptance sampling plan is the OC curve.

(i1)  Statistical process control is one of the tools of TQM.

(1i1) Multiple sampling permits more than two samples to reach a decision regarding the
quality of the lot.

(iv) The X — chart and R — chart are constructed to resolve assignable variations in a

process.
Code :

(1) (@), (i), (iii) and (iv) (2) (i), (iii) and (iv)
(3) (@), (iii) and (iv) (4) (i) and (iv)

Statement — I : The moving averages method and the exponential smoothing method of
demand forecasting for operations are related.

Statement — II : Economic order quantity (EOQ) is based on the trade off between the
carrying and order costs to decide optimal order quantity.

(1) Both the statements are correct.

(2) Both the statements are incorrect.

(3) Statement I is correct while statement II is incorrect.

(4) Statement I is incorrect while statement II is correct.

If the total allowances (personal time, fatigue and unavoidable minor delay) are agreed
upon as 16% and if the normal time of an element is 0.210 minutes, what is the standard
time for the good industirla engineer ?

(1) 0.370 minutes (2) 0.336 minutes

(3) 0.250 minutes (4) 0.150 minutes

Paper-11 14 J-17-16
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TSR 3R T i Wiasavil 3iX o & e safod, 7ei= 3I) wotett
M & |

[ TN

(1) (A) AT(R)IATTE |

(2) (A) 3T (R) SHT T&l & @21 (R), (A) & T& AN E |

(3)  (A) 3T (R) 3HT W&l &, W (R), (A) Pt Tel AT el ¢ |
4) (A TEE, R (R) T & |

TopaTeeh STTHY o T3 | f=feiiad § | et e 1 939 &Y :

() T U qeheieh 3T T & HiSell UR SR &Il & |

(i)  3TTHATHAT BT THI AT ThaTeHeh SFEUH ¢ |

(i) TE TS o FRIEH0T T T SUTH ¢ |

XA

(1) (i) 3 (i) T FAE | (2) (i) 3R (i) T FE |
(3) (i) 3R (iii) T FAE | (4) (i), (i) 3 (iii) T FITE |

it e T % e A frefafad § 9 i @ we el € 2

() P Uid=ae AT § SRR % AT OC 56 & |

(i) wifeet ufskar &1 TQM &1 U MR € |

(ili) T % TUTEET % Hey | 0Tg W qgen & SE-uiaead & ¥ 3t T Sl gSTeid Sar e |
(iv) Tordt ufshar & e =X ot geter &g TH-91E 31T 3TR-91E ST ST § |

%

(Ql) (i), (i), (iii) 3T (iv) () (i), (iii) 3R (iv)

3) (i), (iii) 3 (iv) @ (i) 3R (iv)

FUA—1: HOT YAAA B JorT TS BIS SR TROHREE WA HeE Tbe & -3
Y Hefa € |

FUA — 11 : 3TTHoi TR AET % [FER0T &q STk SR JET (EOQ) A 31 R TART
% Ihe TR TN & |

(1) ST %9 W€ |

(2) T T T § |
(3) U — 1 HEl & Safeh o — [T ¢ |
(4) T - [T & St o — [Tl ¢ |

T FoT Tl (AT GHE, Th1ae 3T ARG 7 foeiel) i 16% HF o/ ST qen et o
T GERT F9F 0.210 T 79 forar ST ar [t 3 Sienifne ATaites o e 98d 0
T 2

(1) 0370 e (2) 0336 T

(3) 0250 e (4) 0.150 e
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31. Match the items of List-I with the items of List-II and indicate the code of correct
matching with regard to fundamentals of probability.

List -1 List — II
(a) P(A)+PB) (1)  P(A or B) when events are not mutually exclusive
(b) P(A)+P(B)-P(AB) (ii) P(AB) when events are independent
(©) P(A)xP(B) (iii)) P(AB) when one event is independent while the other
is dependent
(d) P(A) x P(B/A) (iv) P(A or B) when events are mutually exclusive,

exhaustive and equally likely.
Codes :
@ (b © @@
(L ® @Gy 3G (@Gv)
(2) Gv) () @H ()
(3) (@) G Gv) @)
@4 @Gv) @) @G @)

32. When size of a sample is 25, standard deviaiton of the population is not known and a
researcher wants to test the significance of the difference between two sample groups
performance, which one of the following hypothesis testing tests is appropriate ?

(1)  Chi-square test (2) F-test
(3) Z-test (4) t-test

33. The standard deviation of the binomial distribution is
(I) np (2) npq
3) mp @ npg

34. The two regression lines obtained in a correlation analysis of 60 observations are :
Sx=6y+24 (xony)
1000y = 768x — 3708 (y on x)
What is the value of coefficient of correlation between variables x and y ?

(1) 0.92 (2) 0.96
(3) 090 4) 0.46
35. Use of computer mode for a special purpose is classified as :
(1) Computer interface (2) Computer application
(3) Control application (4) Peripheral application

36. The strategy making hierarchy consisting of corporate strategy — line of business strategy
— functional area support strategy — operational level strategy was propounded by whom
of the following ?

(1) George Albert Smith (2) C. Roland Christensen
(3) Edmund P. Learned (4) Thompson and Strickland

37. The enduring statements of purpose that distinguish one business from other similar firms
are commonly called as
(1) Vision statement (2) Objective statement
(3) Strategy (4) Mission statement

Paper-I1 16 J-17-16



31. gt — 1l T&T & gat — [1 Sl 93T % T GATAd Y 3R RIS & Gef awall & 9o H 9t e
i Tq
T -1 = - 10
(@) P(A) + P(B) (i) P(A 1 B) 54 BN WER 3T T&l & |
(b) P(A) +P(B)—P(AB) (i) P(AB) < HeTT WH & |
(¢©) P(A) x P(B) (iii) P(AB) & Ush HeAT WA & 3 TaLT 3Mferd & |
(d) P(A) x P(B/A) (iv) P(A3ar B)aaaz:rrﬁrwa—qwq, rd%QH AR T G
|
B
@ b © @
(Hh @) @G) (i) (@[Qv)
(2) (v) (i) (@) (i)
(3 G di) Gv) @)
@ (Gv) @G) @i @)
32. 19 U WASY HT HR 25 &, SHEE & A foaeH & 9 § Ao el & 37 T sl af
UfasYT THel (e o S S & Hewd T TR0l T &, af (e § & Hidr TRehed]
Sirer IReToT gre € 2
(1) FETHER TR0 (2) F-u3pefor
(3) z-udor (4) t-adreor
33. {553t de &1 " fomed &
() np (2) npq
(3) ~p (4)  ~/npq
34. 60 UeIUT & WeHsy favATor § U g1 FHIHE0 W@ fe=tefEd ¢
S5x =6y + 24 (x T BT y 91 W)
1000 y = 768 x — 3708 (y T I x T W)
xmyaﬁ%ﬁﬂmwﬁquww%?
(1) 0.92 2) 096
3) 0.90 4 0.46
35. U oI AT % foTq ST 1T P T aviiehdoT (e @ :
(1) e SeThE (2) I TAHTH
(3) eIt TwART (4) TS TIRe
36. TOHITT FEOT FUE SEH HRARS WHEITG-AT2T- 6 [oE 0T — Hraicds & Teadr O
— YA ) T e €, fe=fatad 7 9 foges g ufdqoted fear wam ar 2
(1) it 3feee farg (2) & Acive oheeaT
(3) TU=HS W o (4) IO US WEHAS
37. 9 UESH & W U S R U g $ g 3T U EHT ¥ 9% B §, 3T R W
FEA € |
(1) foom Faa (2) TS FEH
(3) IOEIT (4) ™IE ®E
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38. Network techniques like PERT and CPM are the examples of .
(1) Strategy (2) Programmes
(3) Policies (4) Objectives

39. Match the items given in List — I with the items of List —II :
List - I List — IT
(a) Competitive advantage (i)  Creating an effective organizational

structure

(b) Strategy formulation (1)) Reviewing current strategies

(c) Strategy implementation (iii) Comparing to rival firms

(d) Strategy evaluation (iv) Determining internal strengths and
weaknesses

Codes :

(@ () (© (@
H @@ Gv) (@) (i)
@ @ (@) (@) (@{v)
(3 @G @Gv) @ 3G
@ Gv) () (@) (i)

40. The ‘Industrial Organization’ (I/O) approach to competitive advantage by Porter
advocates which of the following ?

(1) Industry in which a firm chooses to compete has a weaker influence on firm’s
performance.

(2) External factors of industry are more important than internal factors in a firm.

(3) The internal functional decisions managers make in marketing, finance and like
have a stronger influence on firm’s performance than industry in which a firm
choose to compete.

(4) Analyzing external forces and industry variables cannot act as a basis of getting and
keeping competitive advantage.

41. Match the items of List — I with List — II.

List - I List - IT
(a) Forward integration (1)  Diversify in other areas
(b) Backward integration (i) Current product serve as inputs
(c) Conglomeration (i) Combination of two or more businesses
(d) Merger (iv) Production of raw material
Codes :

(@ () (© (@
(H  Gv) () @) 3G
@ O @) @) (i)
(3 Gv) () (@) (i)
@ @@ @Gv) (@) (i)
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38. Hceeh dedish T9T PERT 3 CPM % IIEIOTE |

(1) oHta (2) HEHA
(3) Hifaar (4) e
39. gut — I Wt ST B Gt — 11 Bl T&T o 9rey gaferd
T -1 = - 10

(a) TqETYTcHe AT (i) Uk TS SSIHS il T FH10T ST
(b) oI FET (ii) I IO st FHET AT

(c) oM wEFEEE (iii) ot wET e A

(d) IO o (iv) 3TN BT 3T USRI T EROT AT
T

(=N

(@ () (© (@

() @) @Gv) () (i)

2 @ @) @Gy (1)

(3) (i) (v) () (i)

4 Gv) @) (1) (i)

40. URT N Ud@EHS M & Ud ST ST (3TME/3) et Hefated § 9 fhawl
THTA HIAT & 2
) ?ﬂﬁmﬁaﬁéwﬁuﬁmﬁwdl TOT Al €, SHHT B & (TR T HHSIK TH1E TSl
|

(2) gl &1 O AR BRI B T H ST o STel HRE hel e Tewqol 8t & |

(3) UeYH FRT fquuE, for SR 71 THH qEl W feT ST 9Tl STidRes e o o 7Y &
FRMRET W, T fhdt ST a9 ®F Uiqeqel T Uhg Bl &, i STURT Hel AT
qgE TIE BT § |

(4) =TeT Amhal Y 3iENfTeR =) T e or uiqerEicts o U e o oy W et s
TG % MUR & &9 § HF Tl L Tohel & |

41. G — 1 TE) R g — 11 & |r gaford &1
T -1 = - 10
(a) TERIUHHOT (i) 3 &ol 7 fafareeeor
(b) UTH TR (i) TIHH SIS &M o &Y T 1 Il ©
(c) e (iii) 3T a1 2T QAT H T
(d) Toe= (iv) =d T T SR
%
(@ () (© (@
(D Gv) @) (@) (1)
2 @ @) @Gv) (i)
(3) Gv) @) (1) (i)
@ () (Gv) () (i)
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42. Assertion (A) : The rural people who work in the rural handicraft industry are mainly

women and those from the weaker sections of the society.

Reason (R) : The main objective of Khadi and village industries commission (KVIC) is to
promote women and weaker section of the society.

Codes :

(1) (A) is correct but (R) is not correct.

(2) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(3) Both (A) and (R) are correct but (R) is not the correct explanation of (A).

(4) Both (A) and (R) are incorrect.

43. The major cause of industrial sickness, as identified by ‘Tiwari Committee’ in it’s report
submitted in 1984, was .
(1) Deficiencies in management (2) Infrastructural factors
(3) Labour trouble (4) Technical factors

44. The income tax act which was amended in 1977 by addition of section 72 A, provided
grant of tax benefit to healthy units for which of the following reasons ?
(1) Taking over of other healthy units for making economy stronger.
(2) Keeping themselves healthy during initial stages of their establishment.
(3) Providing loans and other financial assistance to sick units in industry.
(4) Taking over of sick units by amalgamation with a view of reviving them.

45. Match the items of List — I with those of List — II.

List -1 List — 11
(Entrepreneurship Theory) (Attributes)
(a) Social change (i) The introduction of a new product which
consumers are not yet familiar.
(b) Status withdrawal (i1) Individuals with high need achievement will not
theory be motivated by monetary incentives but that

monetary rewards will constitute a symbol of
achievement for them.

(c) Achievement theory (11) Driving entrepreneurial energies are generated by
the adoption of exogenously supplied religious
beliefs.

(d) Innovation theory (iv) A class which lost its previous prestige or a

minority group tends to show aggressive

entrepreneurial drive.
Codes :

@ () (© (@

(G @ G @Gv)

(2) @G @Gv) @G) 1)

3 O @G (3G @Gv)

4 @Gv) @) @G @)
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42.

43.

44.

45.

ANTHYT (A) ¢ TTHIOT AT ST UTHOT B&dehedl ST A 1 i € Jeaadl Aieedld gidl & 3K o
AT & SHASIT ol d G W@l & |

T& (R) : WIS 3R W ST SN (o SE ) B TF 3299 Afeennsii 3T qUST
FHHSIY qehT I WcATEd HEATE |

B

(1) (A T T, Al (R) T € |

(2) (A) 3T (R) 3HT W&l & 3T (R), (A) T T& TWEHT € |

(3)  (A) 3T (R) 3HT W&l &, @b (R), (A) T Tel TEHT & € |

(4) (A) AT R) I TATE |

et AT FRT 1984 H WEqd R § =i S0ar & THE HROT Ht Ted = Feerad § &
i °F 2

(1) weg" 9 et (2) SATEEATHS HRE
(3) HIGY 3T (4) A BREH

IHRT AT, 99 9/ 72 A SEHT 1977 § Hentd fohar man on, ¥ FEfateg § 9 6
THNON e THISAT Hl T AT S T TIEeT Tohar T 92

(1) ST & AT S o [TT 3T W Th1eal 1 ST |

(2) D! T & I I8 H W Bl ToTad ST & |

(3) SR ST | S70T TehTEAT i 0T U 31 {a<iig Weradl Ue T |

(4) TTUT SHRAT HT FHHA ST JASITST e o 3299 H KT STEIRUT HAT |

T — 1 1 AT B Gt — [ o J1 GAterd Y

Tt - 1 =t - 11
(Ferigha fagT=m) (ferstuat)
(a) WIS TEAT (i) % 3T BT I HLAT STOH ITHTHRT 31ft IRfead T & |

(b) Teia s fEem (i) =T AEvIhar STATY ol AT Hifseh Wede-T § URd
Tel & ifeheT a8 Hifgeh R 37k felT Suetfees &

Telteh ST |

(c) Sucitey fagra (ili) VIeeT STHHAT ATRIAT Sesiia TR efhe favardr &
SIPR | UST &Il & |

(d) TovEdT fEsTa (iv) T o STE 791 qa Fo @ 53T 91 U SoqdeTsd
TE H STshAe STHg Mg Bl € |

(@ () (© (@
(H @) @ G (@{v)
2 (@) @Gv) @G) @
3 @O @) (3G (@{v)
@ Gv) () @G (@)
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46.

47.

48.

49.

50.

Statement — I : Corporate values seen to ensue a consistency of conduct across the entire
organisation.

Statement — II : Business ethics can provide the general guidelines within which
management can operate.

Codes :
(1) Iand II both are incorrect (2) Iand II both are correct
(3) Iis correct Il is incorrect (4) 1isincorrect II is correct

Which one of the following denotes six characteristics of ethical code of conduct for
manager ?

(1) Integrity, Impartiality, Responsiveness to public interest, Economic, Honesty,
Transparency.

(2) Integrity, Impartiality, Responsiveness to public interest, Accountability, Honesty,
Transperancy.

(3) Integrity, Impartiality, Responsiveness to public interest, Civil society,
Accountability, Transparency.

(4) Integrity, Impartiality, Responsiveness to public interest, Accountability, Fairness,
Transparency.

Three levels of corporate social responsibility of business are denoted by which one of the
following ?

(1) natural environment, market economy, voluntary action

(2) ethical values, work culture, participation

(3) market force, mandated action, voluntary actions

(4) healthy competition, good corporate business, voluntary action

Who has defined following concept of corporate governance ?

“Corporate governance is defined as holding the balance between economic and social
goals and between individual common goals. The governance framework is there to
encourage the efficient use of resources and equally to require accountability for the
stewardship of those resources”.

(1) K. Keasay (2) Cadbury committee
(3) J.J. Irani Committee (4) Ronald R. Sims

Which among the following is not associated with social responsibility of business
enterprise ?

(I) Caux Round Table

(2) Transparency International

(3) Global reporting initiative

(4)  Organization for economic cooperation and development
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46.

47.

48.

49.

50.

FHAT—1: HRURE o N TAH T TS o a1 eHeeR | FR-awar bl Gy e e § |
HUA - 1 : FaEE Gadt R =it g fgen Feer 3t & o g ueem serar € 1
XA

(1) 13RISH T | (2) 13RI T |
(3) 1T EAMTEAE | 4) 1TeaE AT T |

=1 7 9 Toheeh 5T weieet o AfdiRes 3R Giedn 1 o faeand st T2t & 2

(1) U, e, o fed § STRETgceuidr, -3, SHMRRY, IRERTr

(2) UG, (I, ik fod B STRIAUTdT, STaTeeal, SHMERY, TR T

(3) U, e, o fed B STRETEceuUTdT, fafaet Qrareet, STerase!, aRarr
(4) TS, T, A fed § STEIAcUrdT, STaTese!, =EEdd], TRERTT

QT & FTE G SURIMEe o dF W) = J 9 e §RT 3919 T § 2
(1) WeHiceh qaTeRUT, ASTR STeleTae, gt S

(2) e god, S A B GEHT, WA

(3) SR T, AT S, Torielt

(4) T YA, 37T T SaadE, adel S

HARE ToY o = Togia ot forg= aiesioeg foman & 2

“HRUNE T & 99 H g AHT ST & o 98 sreieqaen iR amifses oiedl qer safaaa
=T T H ol SFT Tl & | T o 3ieh Wb 9 WART bl TicHiied oherd qeT Qre-aref
THTHH FT T 37 GATEHT % [T SM1awgsh STameRe! &q "ged - & [T Ta-d 1 hiah ¢ 17

(1) & & (2) hEs{) Gl
(3) SIS T |iE (4) TS AR A=

fr=fafad & 9 ®F 91 6 e % 1T STREE 9 Gatad Tl € ?
(1) T ST A

(2) SR IRERT

(3) afvaes fdife =t e

(4) oTTres TeanT 3R foehr & Fed
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